2006-2007 6TH GRADE CONTEST Answers
30. At most ?_ squares with side-length 4 can fit inside a rectangle | 30.
with area 2000 without overlapping.
A)121 B)125 C)250 D)500
31. What percent of a 3-hour concert : 31
will I see if I'm there for 18 minutes? 95 )é \
A)6% B)10% C)21% D)30% Lot
32. If an equilateral triangle has in- 4 32.
teger sides, its perimeter cannot be
A)915 B)e6l5 C)315 D)115
33. How many different positive integers are factors of 2006 = 2x17x59? | 33.
A) 4 B) 6 C) 8 D) 9
34. Of 60 kids, if 20 like math, 30 like art, and 10 like both, then 34.
how many like neither?
A) 0 B) 10 C) 20 D) 30
35, If1+3+5+...+99 =2500,then2 +4 4+ 6 + ... +100 = |35.
A) 2550 B) 2599 C) 2600 D) 5000
36. Bob counted by 3's starting with 2. He got 2,5, 8,11, 14, 17,. ... |36.
Ann counted by 2’s starting with 3. She got 3,5,7,9,11, 13, .. ..
Bob’s 100th number is ? more than Ann’s 100th number.
A) 97 B) 98 C) 99 D) 100
37. A tree with 20 times as many 37.
leaves as branches could have
A) 399 leaves B) 400 leaves
C) 401 leaves D) 410 leaves
38. After I cut some red tape into 38.
50 pieces, I then cut each of
the 50 pieces into 5 smaller
pieces. At most how many
cuts did I make altogether?
A)249 B) 250 C)299 D) 300
39. When folded along the lines shown, which cannot form a cube? | 39.
A B | C D) OT
gy oD omh poaf |
40. If 4 flips = 3 flops, and 2 flops = 4 flaps, then ?_flips = 6 flaps. |40.
A) 2 B) 3 C) 4 D) 6

The end of the contest £ 6
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Instructions

= Time You will have only 30 minutes working time for this contest. You
might be unable to finish all 40 questions in the time allowed.

m Scores Please remember that this is a contest, not a test—and there is no
“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, should be commended!

= Format and Point Value This is a multiple-choice contest. Each an-
swer is an A, B, C, or D. Write each answer in the Answers column to
the right of each question. A correct answer is worth 1 point. Unan-
swered questions get no credit. You may use a calculator.
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